Unit 5 Review

1. Determine whether each sequence is arithmetic, geometric, or neither
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2. Determine the 30th term of the arithmetic sequence: 12.4, 13.6, 14.8, ...

Qo= 124 + (30-)(12)
: .70

h= .2

3. Determine the first 8 terms of the arithmetic sequence, when the 3rd term is 41 and the 7th term is
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4. Find a formula for a, for the arithmetic sequence.
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5. Determine the 10th term of the geometric sequence: 2, 6, 18, ...
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6. Given the following geometric recursive sequence, find the first four terms of the sequence.

a; =120 and ay;=1.1a,

20, (32, I45.2, |89. 74

7. Determine the first six terms of the geometric sequence, when the 2nd term is 75 and the 3rd term is
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8. Insert 3 numbers between 6 and 1536 so the 5 numbers form a geometric sequence.
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9. For the arithmetic series 3+ 7 + 11 + 15 + ..., determine Ss; ( 34‘
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10. For the geometric series 128 + 64 + 32 + ..., determine Sq
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11. Determine the sum of each series
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12. Find the sum

b3
n
z N ( ")
1(4%) + 2(4%) + 3(4°) + ...+ 8(4%)
n=|
4
14. Find the sum: 2, ’ (
24 A
ch—w = ~Ti: L ‘
= 3




: 18717 17L = 45u}%"w

15. Simplify the ratio % =

16. Find the eighth term in the expansion of (3a — 2b)"
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17. Write the expansion of (x +2)’ ) \ ' 5
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18. Write the expansion of (2x - 3y)’
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19. Find the coefficient of the a* b® in the expansion of (a — 2b)7’
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